Algebral
2-6
Multiplication

Contrast between Addition and Multiplication

When Adding: NEGA-T[UG

a) two negatives make a:

o "
b) anegative and a postive make:_'&ﬁ'\ié en I‘ ¢

c) Are like terms required? l(e S

example: Jx tl,’ij x+3x= (Dx
can'$dg
When Multiplying: y -
a) two negatives make a: TPosbve
old+ nee > negy

QU= "SFT g;légative and a positive make: N<3q+' LAY

¢) Are like terms required? No
example: Ry =
7 X 3 y- 2x 3

Multiply. (pg 72) _ The common
—_~ 43)3—'m+%m—%n +%n 45) 7-3(r+s) mistake in 45 is
5) (B)()(-4) 13) (-2a)(-3b) 19) 2(x - 3y) = = - = to do 7-3 first.
21¢-4) babo —Zx & 63 ) 9 7 -3¢ -3s Orders of
-8y -z M*+3Q r No terms match! Operations
Reduce -3¢ -35 47 require you to
_'é""'zr\ multiply -3 with
the distributive
When adding fractions, property.
<\ you must get a common
29) - [(m( a+b)] 31) Sx-Tx+8+2x denominator. The -1 in
- = front of the m is -3/3. Terms should be written in
"‘E‘_??-'&L] ’g{« +8¢ k alphabetical order with
constant terms at the rear.
2q +2k ]
Try on your own! 22c¢47s
<~ < 14 +7s
53) 2[-7(r +2s) - r] - 3(s + 2r) S -17s
2[—‘2/:_-"‘15 ___‘=\:J—Zs—ér' Sc-lbs-2 U@ az

AN ==

2 ES(—-HQ -3s-€r =197 V754
-l6r-28s -3s-bc ~&ra22s

Terms should be written in alphabetical
order with constant terms at the rear.
(This one has no constant term).
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